[image: image17.png]cbseﬁguess





	[image: image17.png]
	http://www.cbseguess.com/




	UnitNo.
	Title
	Marks

	UnitI
	SolidState
	23

	UnitII
	Solutions
	

	UnitIII
	Electrochemistry
	

	UnitIV
	Chemical Kinetics
	

	UnitV
	SurfaceChemistry
	

	UnitVI
	GeneralPrinciplesandProcessesofIsolationofElements
	19

	UnitVII
	p-BlockElements
	

	UnitVIII
	d-andf -BlockElements
	

	UnitIX
	CoordinationCompounds
	

	UnitX
	HaloalkanesandHaloarenes
	28

	UnitXI
	Alcohols,Phenolsand Ethers
	

	UnitXII
	Aldehydes,KetonesandCarboxylic Acids
	

	UnitXIII
	OrganicCompoundscontainingNitrogen
	

	UnitXIV
	Biomolecules
	

	UnitXV
	Polymers
	

	UnitXVI
	Chemistryin EverydayLife
	

	
	Total
	70


QUESTIONWISEBREAKUP
	TypeofQuestion
	MarkperQuestion
	TotalNo.ofQuestions
	TotalMarks

	VSA
	1
	5
	05

	SA-I
	2
	5
	10

	SA-II
	3
	12
	36

	VBQ
	4
	1
	04

	LA
	5
	3
	15

	Total
	
	26
	70


1.
InternalChoice:Thereisnooverallchoiceinthepaper.However,thereisaninternalchoiceinonequestionof2marksweightage,onequestionof3marksweightageandall thethreequestionsof5marksweightage.
(CLASS-XII)

Subject : Chemistry                                                                                                                              Class - XII
Time- 3 Hours                                                                                                                                        MM:70

General Instructions:

1. All questions are compulsory.

2. Question numbers 1 to 5 are very short answer questions of one mark each. Answer these in one word or about one sentence each.

3. Question numbers 6 to 10 are short answer question of two marks each. Answer these in about 30 words each.

4. Question numbers 11 to 22 are short answer question of three marks each. Answer these in about 40 words each. Question no. 23 is of 4 marks .

5. Question numbers 24 to 26 are long answer question of five marks each. Answer these in about 70 words each.

6. Use log tables, if necessary.

------------------------------------------------------------------------------------------------------------------------------------------

Q1. A solid AB has NaCl structure. if the radius of the cation A is 100 pm , What is the radius of the anion B ?
Q2.What is adsorption isotherm.At high pressure ,what form Freundlich adsorption isotherm equation takes ?
Q3. How does ammonia react with a solution of Cu2+ ?
Q4.  Which is stronger reducing agent Cr2+ or Fe2+  and why ?

Q5. Given the standard electrode potential K+/K = - 2.93 V , Ag+ / Ag = 0.80 V ,  Hg22+ /Hg = 0.79V
      Mg2+ / Mg = -2.37 V  ,  Cr 2+ / Cr = -0.74 V

     Arrange these metals in their increasing order of reducing power ?

Q6. Determine the amount of CaCl2 (i=2.47) dissolved in 2.5 lt of water such that its osmatic pressure is   0.75 atm at 270C ?
Q7. A reaction is second order with respect to a reactant .How is the rate of reaction affected if the concentration of the reactant is (i) doubled  (ii) reduced to ½ ?
                                                                                    OR

  The rate of a chemical reaction doubles for an increase of 10K in absolute temperature from 298K.  Calculate Ea.
Q8. Write the balanced equations for the following :

i.  NaCl is heated with sulphuric acid in presence of MnO2

     ii.  Cl2 gas is passed into a solution of NaI in water.

Q9. What are ambident nucleophiles? Explain with an example .
Q10. How the following conversions can be carried out?

      (i) Propene to propan-1-ol

     (ii) Toluene to benzyl alcohol

Q11.i.What is meant by hydroboration-oxidation reaction? 
        ii. What is maximum oxidation state shown by actinides ?
Q12. How will you convert ethanal into the following compounds?

(i) Butane-1,3-diol (ii) But-2-enal 
Q13. The edge length of unit cell of a metal heaving molecular weight 75g/mol is 5 A0 which crystallizes in cubic lattice .if the density is 2g /cc ,then find the radius of the metal atom in pm. (NA = 6×1023).
Q14. What are  colligative properties ? How relative lowering of vapour pressure is used to determine the molecular mass of a solute ?
                                                                                        OR

Calculate the amount of benzoic acid required for preparing 250 ml of 0.15 M solution in methonal .
Q15. The half life for radio active decay of C14 is 5730 y. An archaeological artifact contained wood that had only 80% of the C14 found in living tree. Estimate the age of the sample.   

Q16. What is gangue ?Why is the froth floatation process selected for the concentration of sulphideores ?

Q17. Explain what is observed 
(i) when a beam of light is passed through a colloidal solution 
(ii) an electrolyte ,NaCl is added to ferric hydroxide sol and 
(iii) an electric current is passed through a colloidal sol.
Q18. Account for the following :
i. There is greater range of oxidation states among the actinoids than among the lanthonides.

       ii. The enthalpies of atomization of the transition metals are high .

Q19. Explain [Co(NH3)6]3+ is an inner orbital complex where as [Ni(NH3)6]2+ is an outer orbital complex ?          

Q20. Explain the term copolymerization. Write the free radical mechanism for the polymerisation of ethane ?

Q21. Write the important structural and functional differences between DNA and RNA ?

Q22. While antacids and antiallergic drugs interfere with the function of histamines, why do these not interfere with the function of each other ?

Q23. People are advised to limit the use of fossil fuels resulting in Green House Effect leading to a rise in the temperature of earth. Hydrogen provides an ideal alternative and its combustion in fuel cells. 
a. Write electrode reaction in H2-O2 fuel cell. 
b. How is green house effect reduced by the use of fuel cells? 
c. Write the values associated with preference of using fuel cells to fossil fuel. 
Q24. What happens when
i. XeF4 undergoes hydrolysis

       ii. XeO3 reacts with an aqueous alkali solution.

      iii. PtF6 and xenon are mixed togather

      iv. XeF6 undergoes hydrolysis.

                                                                                                  OR

    How are XeO3& XeOF4 prepared? 

   (b) Explain 
(i) PCl3 act as a oxidizing agent as well as reducing agent.                                                            

(ii) Di-oxygen is gas but sulphur is a solid.                                                                                                                         

(iii) R3P=O exist but R3N=O does not.   

Q25. (a).Explain the following: 


(i) Cannizzaro’s Reaction                                                                                      



(ii) Wolf Kishner’s Reaction                                                                                                                                     
(iii) Cross Aldol Condensation                                                                                                                                                  (b) Give chemical test to distinguish between                                                                                                                   (i) CH3CHO and C6H5CHO

(ii) CH3COCH3& CH3CHOHCH3

                                                                     OR

a. Ethanol reacts with acetic acid in the presence of conc. H2SO4 to give a sweet smelling substance. Give the equation involved in the reaction. 
b.Write a note on 
i.Rosenmund’s reduction                               ii.Hell VolhardZelinsky reaction 

Q26. How will you convert:

        (i) Ethanoic acid into methanamine

       (ii) Hexanenitrile into 1-aminopentane

       (iii) Methanol  to ethanoic acid

(iv) Ethanamine into methanamine

     ii. What are the hydrolysis products of lactose ?
                                                                                    OR

  Account for the following:

(i) pKb of aniline is more than that of methylamine.

(ii) Ethylamine is soluble in water whereas aniline is not.

(iii) Methylamine in water reacts with ferric chloride to precipitate hydrated ferric oxide.

(iv) Gabrielphthalimide synthesis is preferred for synthesising primary amines.
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  *indicates that question is of 5 marks.4 from chapter 13 plus one from chapter 14.
Q1. 241 pm. NaCl has octahedral structure, r A+ = 0.414 × r B-Marks :  1 × 1 = 1
Q2. Correct definition.it becomes independent of pressure at constent temperature. (x/m = k)  

Marks: ½ + ½ = 1

Q3.   Cu2+    +   4NH4OH    -------------->[Cu (NH3)4]2++  4H2OMarks : 1 × 1=1
Q4. Cr2+.results in change of configuration from d4 to more stable d3 than from d6 to d5 in Fe2+.  

Marks: ½ + ½ = 1
Q5.  Ag < Hg < Cr < Mg < K                                                                                      Marks: 1  × 1= 1
Q6. 3.42 g. (amount dissolved = no. of moles of solute × molar mass of solute)     Marks: 2  × 1= 2
Q7.  4 times , 1/4thMarks: 1 + 1= 2

                     OR

Answer.  53 kj mol-1Marks  2 ×1=2
Q8.  4NaCl  +  MnO2  +  4H2SO4  ------------>   MnCl2  +  4 NaHSO4  +  Cl2  +  2H2O 

         Cl2+  2NaI  ---------- >   2 NaCl   + I2Marks: 1 + 1= 2
Q9. Nucleophiles heaving two nucleophilic sites .eg nitrite ion.               Marks: 1 + 1= 2
Q10. Correct reactions.                                                                                         Marks: 1 + 1= 2
Q11. i. Addition of borane to alkene to form addition product followed by oxidation. 

         ii. +7.
Marks: 2+ 1= 3
Q12. Correct reactions.                                                                                           Marks: 1 ½ + 1 ½ = 3
Q13. Using formula ,Density = Z × M / a3  × NA= 2(bcc). for bcc r = [image: image2.png]


/4  × a = 216.5 pm 

Marks: 3 × 1= 3
Q14. Correct definition and proper method.                                                   Marks: 1 + 2= 3

OR
Answer : 4.575gMarks: 3 × 1= 3
Q15. 1845 Years                                                                                                       Marks: 3 × 1= 3
Q16. Correct definition.correct explanation.                                                  Marks: 1 × 2= 3
Q17. (i) Tyndall effect   (ii) coagulation of Fe(OH)3 by Cl- ions  (iii) colloidal particles move towards the oppositely charged electrode, where they get coagulated.                  Marks: 1+1+1 = 3
Q18. Correct explanations for both.                                                                Marks: 1 ½ + 1 ½ = 3
Q19. Correct explanation.                                                                                   Marks: 3 × 1= 3
Q20. Correct Answer.                                                                                          Marks: 1+ 2= 3
Q21 .three main differences .                                                Marks: 1 + 1+ 1= 3
Q22.  correctexplination.                                                        Marks: 3× 1= 3
Q23. . a. Cathode: O2 (g) + 2H2O (I) + 4e-→ 4OH-(aq) 
        Anode: 2H2 (g) + 4OH-(aq) → 4H2O (I) + 4e-
b. no any pollutant is being formed as product of cell reaction. 
   c. Environmental conservation Marks : 2 + 1 + 1 = 4
Q24.  I.   6XeF4  +  12 H2O ----------------->  4 Xe  +  2 XeO3  + 24 HF   + 3 O2
         II.  Xe03   +  OH-  ------------ >    HXeO4-   : 2HXeO4- + 2OH-  ------> XeO64-+ Xe + O2 +  2H2O.

      III.  Xe  +  PtF6   ----------->Xe+[  PtF6]-
         IV. XeF6  + 3H2O  ---------------- >   XeO3   +  6HF                                   Marks :  1 + 2+ 1+ 1 = 5
OR

   a.   XeF6   +   3 H2O   →   XeO3   +   6 HF   and   XeF6   +   H2O   →   XeOF4   +   2 HF.        

b.  I.The oxidation number of P is in between – 3 and + 5 in PCl3.

   II.  Due to small size, O can form p[image: image4.png]
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 bonds and it exist as a discrete small molecule and hence gas.  S being large in size, cannot form P[image: image8.png]


-P[image: image10.png]


 bonds, exist as a network solid. .  

   III. Due to absence of d-orbital, N cannot form R3N = O bot P has d-orbitals, it can show pentacovalency.                                                                                                                      Marks : 2 + 1+1+1 = 5
Q25.

i. Carbonyl compound without [image: image12.png]


 H in the presence of base gives salt of carboxylic acid and alcohol.       ii.  Carbonyl compound  +   NH2NH2 / base gives hydrocarbon.                                                                                  iii. Two different carbonyl compound, one having [image: image14.png]


 H in the presence of base gives [image: image16.png]


-hydroxy carbonyl compounds as product.                                                                    Marks :  1 ×  3 = 3
Iodoform test and Brady’s reagent respectively.Marks :  1 ×  2  =  2       (  Total  3+2 = 5)
Or

1)CORRECT REACTION                                                       Marks :  2  ×  1 =  2
2) CORRECT REACTIONS                                                     Marks  1.5 × 2 = 3                       ( Total 2 + 3= 5)
Q26. i-v   ( correct reactions)                                            Marks:          1 × 5 = 5
OR

        I.   Aniline undergoes resonance and as a result the electrons on the N atom are delocalized over the benzene ring. Therefore the electrons on the N atom are less available to donate.In case of metalamine the electron density on N atom is increased due to +I effect of methylgroup. thue as a result aniline is less basic than methylamine and thus pkb value of aniline is more.
   ii.  Ethylammine forms H bonding where as aniline doesnot.

   iii.  CH3 + NH2 + HO-H  ------------> CH3-NH3+  + OH-
FeCl3  --------------> Fe3+  +  Cl- 
       2Fe3+  +  6 OH-  --------------- >   Fe2O3. 3H2O                 

   IV. Pure primary ammine can obtained from Gabreilpthalmide synthesis.  Marks : 1+1+2+1=5
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